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CHEMISTRY
Paper - II Organic Chemistry
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Part-A (Compulsory)
yT-3t ( It )

How many types of electronic transition are there? Arrange themin
decreasing order of energy.

sife Sau e YoR 3 AW 7 TR A B 6 B A
Fafed P

How diethyl ether can be converted into an ester?

STl R P TR § ¥ el 1 WHA 57

What is meant by acetylation? Yefeefic<0T & &I HTEQ’EE-%?. |
Arrange the following compounds in increasing order of acidity :

Wﬂﬂrﬁﬁaﬁﬁﬂ%ﬁ%ﬁﬁﬁmﬁﬂﬁaﬁm:

OH OH OH OH OH
i NH, f |
NH, :
{ CH, NO,

Explain why acetic acid does not form oxime althoughit contains a
carbonyl group. '
AT s s 8 T ¥ TEfl 36 U TP PRI W €
Amides behave both as weak acids and weak bases. Why?

T gda v T4 gda SR Y a6 A9ER BYal B 1 Y
Arrange the following,compounds in order of increasing reactiviy
towards nucleophilic :

'Acetone, Formaldehyde, Acetaldehyde :

Frafofa et @ TREEE @ YRI5 g wfkaa 3 wu F
ZaRya P :

Give the major-IR absorption bands of the following functional

groups:
(i) Carbonyl group - aldehyde and ketone

(ii) Acids . :
(i) Esters http://www.rtuonline.com

(iv) Amines
iv) Amides
frfafaa fxree W @ W@ IR s 3us Qfow:
(i) PRife Tg-Yfeeess vd HIeH

(ii) a1

(iii) TR

(iv) ¥

(v) S

Picric acid decomposes sodium bicarbonate although it does not
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contain carboxyl group. Why?
ffpe v AT TRFEFT B smufa o a1 ¥ Taf s
RIS WE T8 &1 Fi?

10. Write JUPAC name of the following compounds :

fr=faRaa IS B IUPAC T HR:
O H
| [
@ CH,-C-Cl (i) CH,-C-CH,
s a{
(iii) CH,~ COOH (ii) COOH
l |
OH COOH
Part-B (Compulsary)
wrT-w ( Afard )
11. What do you mean by stretching and bending vibrations? How many

types of vibration occur in organic molecules? Explain.
T T 9 T P W A I AR &7 RS DD H T

5 TR @ 20 &7 RAT DAY

Or ( 37¥&T)
(a) Explain, why diethyl ether sometimes explodes on distillation.
m@,ﬂmﬁéwmwmwmmaﬁ

e TN & &) . |
®) Complete the following reaction: Frfaraa e & QU B

O,

CH,— CH —-&2 —e—?
>~ 12. (a) Two isomeric compounds A and B have molecular formula C H,,
" Both A and B decolourise bromine solution in CCl, and both give
positives tests with cold dilute potassium permanganate. Both A
and B react with two molar equivalents of hydrogen in the presence
of platinum catalyst to yield cyclohexane. Compound A shows an
absorption maximum at 256 mm whereas B shows no absorption
maximum beyond 200 nm. What are the structure of A and B?

o1 warad) s A T B B IUEA CH, ¥1 2 AT CCl, 3
ﬁwﬁrﬁﬁqﬁéﬁ%awaﬂ%ﬁgmoﬁama%mm

————
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Terr 3 ¥ 1 2 M QR IART B SIRAR ¥ TESH B @
WeR gl } frr v e A ¥ e A sragmo
SHIP 256 mm R ST & W& B 200 nm ¥ 30 BE rgeimer
. SO 78 I A T B & |¥aT S9igd ) -
Write the IUPAC names of the following compounds :

fr=ifeaa et & TUPAC M il
(i) CH,=CH-CH,-OH (ii) CH,-0-CH,

OCH,
CH, - CH - CH,
(iii) o (iv) | ] ’
OH OH |

Or ( 319ar)
Write chemical reactivity of alcohols due to cleavage of O-H bond.

Yedpredtl B O-H 99 g &1 ramfe affpart fafad |

Write detailed mechanism of Reimer-Tiemann reaction.

'\’Isﬂ'x'—am# sfafsrar &1 frafafty fivga wu & foRad )

Or(3wwm@r) i
Write detailed mechanism of Cumene hydroperoxide to phenol and

acetone rearrangement reaction. TN TRIJRIAAZS DT BIIA T
YhIem # yafd=ar sfifean o fsanfafyy fasga wa ﬁ forfad |
Predict the products in the following reactions : ~’

ffeRaa sfifears | 397 a1 SR 3 yga

. - QNH'-.' 5\
) >C=O NH,NH, KOH , o

DEG,A

(i) R-C—R! —Pemid g W, o
Il
O
| Or ( 31¥ar)
Predict the products in the following reactions :

ﬁwﬁmaﬁﬁﬁmﬁﬁmmﬁm@qﬁrﬁﬁ:

i {O)R S

(ii) CH,,_0H-CHO+HBr CHyCOOH 7 __10] 4 ?
How will you synthesize following from diazonium salt :
(i) Nitrobenzene (ii) Phenol |

I SRS Taur ¥ a9
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(i) TSR (ii) BT —
' Or ( 319ar)
Describe the reduction of nitrobenzene under different conditions.
fafr= trﬁﬁaﬁu‘r H G~ P 39 B o a%’lf%m !
Part-C (A11-9)
Unit-1 (3®E-1)
16. (a) Explain with diagram all possible types of molecular vibrations
that occur in ag organic molecule. BRIF® BT # I~ yoR B
e F¥91 & afes Rz HRR |
(b) Explain the following terms (any two) :
(1) fingerprint region (ii) Chromophores.
(111) Bathochromic shift
FrfeRaa ol & e AR (B )
(i) sgfereTa & (ii) PEBR
(iii) YU Rioe .
©) Using Woodward Fieser Rules calculate A for the following

- ‘compounds : W—W%ﬁmwﬁqﬂlﬁaﬁﬁmwaﬁme
L i Rafy & o AR ¢

(i)Gcﬁ—cﬁ@ (ii)(ﬁ

iy ( y—— ) @

Or ( 37gar)
What are symmetrical and unsymmetrical ethers? How does an ethers
react with hydroiodic acid? How is this reaction used for the detection

and estimation of alkoxy groups? TP TF M AR &1 3
£? SR ERSIARS I W 5 YR fra a1 37 Yool g |
& freivor v ameert o g aifvfe <) T ST 37 |
®) Give the structures and names of the products you would expect
from the reaction of ethylene oxide with reaction. Tf¥eh SiierTgs
D 9 & Wiy fFar A 9 99 SAIE B G 99 T Ty |
() H,O/He® Gi) H,O/OH® - (iii) NH,

um:)'au,luonummw/:duq
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